A & 0l & A

20149 = =Z0la Xdt==2tel SE3H &H chel &)

2Ok 22 - IBAY - SRAAH (S H) Ol &k o HE T Ol Ak A HwE2 =28
5 Al 408,500 358,500 50,000 13.95%
ALY 408,500 358,500 50,000 13.95%
HWegs 0 0 0 0.00%
A =2S 0 0 0 0.00%
SEYXNINY 22,279 21,288 991 4.66%
KNSR Al 22,279 21,288 991 4.66%
otMGtD HEE T8 T4 22,279 21,288 991 4.66%
Xot==2tel At (Xiot==2te] SE3) 22,279 21,288 991 4.66%
olgl sl 386,221 337,212 49,009 14.53%
ol gl gl 386,221 337,212 49,009 14.53%
ol (Xiot=22l SE 3 H) 386,221 337,212 49,009 14.53%
Glolbl(Xiot=22lSE 3 ) (Xct=2te E9 386,221 337,212 49,009 14.53%
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